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ELECTIVE COURSE : SOCIOLOGY
ES0-6/16 : SOCIAL PROBLEMS IN INDIA

Time : 3 hours	 Maximum Marks : 100

Note : The question paper has three sections. Attempt the

questions as instructed in each section.

SECTION - I

Answer any two of the following questions in about

500 words each :

What do you understand by the term social 20

transformation ? Give an account of any two

models of social transformation.

Write a note on the demographic and social 20

dimensions of urbanisation in India.

What are the challenges and responses to women's 20

work participation in the Indian context ?

Critically analyse the problem of child labour in 20

India.
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SECTION - II

Answer any four of the following questions in about

250 words each :

Enumerate the different kinds of violence that 	 12

women are subject to.

In what way do social structures discriminate 	 12

women in our society ?

Who are the Scheduled Tribes ? 	 12

What are the various dimensions of minority	 12
problem in India, illustrate with examples ?

Bring out the characteristics of ethnicity. 	 12

Write a note on the traditional systems of 	 12
environment protection.

What is the difference between voluntary	 12
organisations	 and	 Non-governmental
organisations ?

Critically analyse the major consequences of Land	 12
Reforms in India.
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SECTION - III

Answer any two questions in about 100 words each :

What are the determinants of sex ratio ?
	

6

What does Gunnar Myrdal mean by the term 'soft 	 6

state' ?

What are the salient features of 'green	 6
revolution' ?

What do you mean by Juvenile delinquency ? 	 6
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